Calculus & Trigonometry

Chapter 6 Pre-Test

1.) (20 pts total, 5 pts each) Simplify each of the following trigonometric expressions.

a) (sinzx)(cotzx + 1)

b) (sinx — cosx)(sinx + cosx)
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2.) (40 pts total, 5 pts each) Verify each of the following trigonometric identities.

2 . 2
a) (sinx + cosx) + (sinx — cosx) = 2

b) tanx + cotx = cscxsecx

2
2 —sin x

C) ——— = secx + cosx
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3.) (10 pts total, 5 pts each) Write each expression as a single trigonometric function.

a) sin (4x) sin (3x) + cos (4x) cos (3x)



b) sinxcos (8x) — cos x sin (8x)

4.) (10 pts total, 5 pts each) Use double angle identities to solve each of the following.

a) Ifcosx = 2—54andsinx < 0, find tan (2x)

b) sin 15°cos 15°
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5.) (10 pts total, 2 pts each) Find the exact values of each problem
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6.) (5 pts total) Write the product as a su
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7.) (5 pts total) Write the expression as a product. f /

coé A+ cot B+ Zco</q‘j£5)c“(%_—e>

cos (8x) + cos (3x)




